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Formalization of the basic concepts of 
Petri nets 

Free Choice Nets (book, optional reading) 
https://www7.in.tum.de/~esparza/bookfc.html 

https://www7.in.tum.de/~esparza/bookfc.html


Petri nets: 
basic definitions
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Carl Adam Petri
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July 12, 1926 - July 2, 2010 
http://www.informatik.uni-hamburg.de/TGI/mitarbeiter/profs/petri_eng.html 

Introduced in 1962 (Petri’s PhD thesis) 
60’s and 70’s main focus on theory 
80‘s focus on tools and applications  

Now applied in several fields 

Success due to simple and clean 
graphical and conceptual 

representation

http://www.informatik.uni-hamburg.de/TGI/mitarbeiter/profs/petri_eng.html


Petri nets for us
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Formal and abstract business process specification 

Formal: the semantics of process instances becomes 
well defined and not ambiguous 

Abstract: execution environment is disregarded 

(Remind about separation of concerns)



Places
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A place can stand for 
a state 

a medium 
a buffer 

a condition 
a repository of resources 

a type 
a memory location 

...



Transitions
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A transition can stand for 
an operation 
a calculation 
an evaluation 

a transformation 
a transportation 

a task 
an activity 
a decision 

...



Tokens (within places)
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A token can stand for 
a physical object 
a piece of data 

a record 
a resource 

an activation mark 
a message 
a document 

a case 
a value 

...



Example
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milk

coffee

cappuccino



From sets to multisets
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Notation: from sets…
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Let S be a set.
Let }(S) denote the set of sets over S.

Elements A 2 }(S) (i.e., A ✓ S)
are in bijective correspondence with
functions f : S ! {0, 1}

x 2 A i↵ fA(x) = 1



Sets vs Multisets
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Multisets 

PAGE 62 

Set Multiset 

• order of elements  
   does not matter 
• same element may  
  appear multiple times 

• order of elements  
   does not matter 
• same element 
  appears only once 
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Set Multiset 

• order of elements  
   does not matter 
• same element may  
  appear multiple times 

• order of elements  
   does not matter 
• same element 
  appears only once 

Order of elements does not matter

Each element appears at most once

Order of elements does not matter

Each element can appear multiple times



Notation: … to multisets
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<latexit sha1_base64="s0O2ZFs2Ew9a860RsTI1IY/dQDI="></latexit>

Let µ(S) (or S�) denote the set of multisets over S.

Elements M 2 µ(S) are in bijective correspondence with
functions M : S ! N

fM (x) is the number of instances of x in M
x 2 M i↵ fM (x) > 0



Example: sets
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fA( ) = 1
fA( ) = 1
fA( ) = 1
fA( ) = 0
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Example: multisets
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Multisets 

PAGE 62 

Set Multiset 

• order of elements  
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• same element may  
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M( ) = 4
M( ) = 2
M( ) = 1
M( ) = 0
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or just

Notation: multisets
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Multiset M = { k1x1, k2x2, ..., knxn} as formal sum:

k1x1 + k2x2 + ...+ knxn

nX

i=1

kixi

multiplicity 
(positive, omitted if 1)

element
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Set Multiset 

• order of elements  
   does not matter 
• same element may  
  appear multiple times 

• order of elements  
   does not matter 
• same element 
  appears only once 
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Set Multiset 

• order of elements  
   does not matter 
• same element may  
  appear multiple times 

• order of elements  
   does not matter 
• same element 
  appears only once 

{   3     ,  2      ,         }



Notation: multisets
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Multiset M = { k1x1, k2x2, ..., knxn} as formal sum:

k1x1 + k2x2 + ...+ knxn

nX

i=1

kixi

<latexit sha1_base64="a/JeTrkDtYCLeLaYQZOI/6CqqnY="></latexit>

As set is just a special case: multiplicity is either 0 or 1

Multisets 
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Set Multiset 

• order of elements  
   does not matter 
• same element may  
  appear multiple times 

• order of elements  
   does not matter 
• same element 
  appears only once 

    3      +2       +       

<latexit sha1_base64="IASui4UV2dAhTNpxvMNWcgrl9WI="></latexit>

xi1 + xi2 + . . .+ xik
<latexit sha1_base64="Ohgxw1lHlS5iR9Sh3aJEm8Pbqms="></latexit>

kX

j=1

xik



Marking
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A marking M : P ! N denotes the number of tokens in each place

M(a) = 0 denotes the absence of tokens in place a

The marking of a Petri net represents its state



Notation: sets
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Empty set:
; = { } is such that x 62 ; for all x 2 S

Set inclusion:
we write A ✓ B if x 2 A implies x 2 B

Set strict inclusion:
we write A ⇢ B if A ✓ B and A 6= B

Set union:
A [B is the set s.t. x 2 (A [B) i↵ x 2 A or x 2 B

Set di↵erence:
A�B is the set s.t. x 2 (A�B) i↵ x 2 A and x 62 B



Notation: multisets
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Empty multiset:
; is such that ;(x) = 0 for all x 2 S

Multiset containment:
we write M ✓ M 0 if M(x)  M 0(x) for all x 2 S

Multiset strict containment:
we write M ⇢ M 0 if M ✓ M 0 and M 6= M 0

Multiset union:
M +M 0 is the multiset s.t. (M +M 0)(x) = M(x) +M 0(x) for all x 2 S

Multiset di↵erence (defined only if M ◆ M 0):
M �M 0 is the multiset s.t. (M �M 0)(x) = M(x)�M 0(x) for all x 2 S



Multiset containment
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Calculating with multisets 

PAGE 63 

+ = 

- undefined 
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+ = 
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Calculating with multisets 
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+ = 

- undefined 

⊂
⊆

⊈
⊉



Operations on Multisets
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Calculating with multisets 

PAGE 63 

+ = 

- undefined 



Question time
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3a+ 2b
?
✓ 2a+ 3b+ c

3a+ 2b
?
◆ 2a+ 3b+ c

a+ 2b
?
⇢ 2a+ 3b

(a+ 2b) + (2a+ c) = ?

(2a+ 3b)� (2a+ b) = ?

(2a+ 2b)� (a+ c) = ?



Question time
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3a+ 2b
?
✓ 2a+ 3b+ c

3a+ 2b
?
◆ 2a+ 3b+ c

a+ 2b
?
⇢ 2a+ 3b

(a+ 2b) + (2a+ c) = ?

(2a+ 3b)� (2a+ b) = ?

(2a+ 2b)� (a+ c) = ?

No

No

Yes

3a+ 2b+ c

2b

Not defined



Petri nets
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A Petri net is a tuple (P, T, F,M0) where

• P is a finite set of places;

• T is a finite set of transitions;

• F ✓ (P ⇥ T ) [ (T ⇥ P ) is a flow relation;

• M0 : P ! N is the initial marking.
(i.e. M0 2 µ(P ))

<latexit sha1_base64="v+HzL3uRyc/NXMgMm6jT/8Skx58="></latexit>

P \ T = ;



Example
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P = {p1, p2, p3, p4, p5, p6, p7}
T = {t1, t2, t3, t4, t5}
F = {(p1, t1), (t1, p2), ... ? }
M0 = 2p3 + ... ?



Pre-set
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A place p is an input place for transition t i↵
(p, t) 2 F

We let •t denote the set of input places of t.
(pre-set of t)

A place p is an output place for transition t i↵
(t, p) 2 F

We let t• denote the set of output places of t.
(post-set of t)

<latexit sha1_base64="wpgS00MziVwABVyfm/PcE2F+KYc=">AAAB+3icbVC7TsNAEDyHVwivACXNiQiJKrIRCpQRNJRBIg+UWNH5sgmn3NnW3R5SZOUraKGiQ7R8DAX/gm1cQMJUo5ld7ewEsRQGXffTKa2srq1vlDcrW9s7u3vV/YOOiazm0OaRjHQvYAakCKGNAiX0Yg1MBRK6wfQ687uPoI2IwjucxeArNgnFWHCGqXQ/CKyUgBSH1Zpbd3PQZeIVpEYKtIbVr8Eo4lZBiFwyY/qeG6OfMI2CS5hXBtZAzPiUTaCf0pApMH6SB57TE2sYRjQGTYWkuQi/NxKmjJmpIJ1UDB/MopeJ/3l9i+NLPxFhbBFCnh1CISE/ZLgWaRNAR0IDIsuSAxUh5UwzRNCCMs5T0abVVNI+vMXvl0nnrO416o3b81rzqmimTI7IMTklHrkgTXJDWqRNOFHkiTyTF2fuvDpvzvvPaMkpdg7JHzgf3210lNw=</latexit>•t
<latexit sha1_base64="3Y739Q7EquIASbX1LA7CWb5HS0c=">AAAB83icbVC7TsNAEDyHVwivACXNiQiJKrIRCpQRNJSJRB5SYkXnyyaccj5bd3tIkZUvoIWKDtHyQRT8C7ZxAQlTjWZ2tbMTxFIYdN1Pp7S2vrG5Vd6u7Ozu7R9UD4+6JrKaQ4dHMtL9gBmQQkEHBUroxxpYGEjoBbPbzO89gjYiUvc4j8EP2VSJieAMU6mNo2rNrbs56CrxClIjBVqj6tdwHHEbgkIumTEDz43RT5hGwSUsKkNrIGZ8xqYwSKliIRg/yYMu6Jk1DCMag6ZC0lyE3xsJC42Zh0E6GTJ8MMteJv7nDSxOrv1EqNgiKJ4dQiEhP2S4FmkDQMdCAyLLkgMVinKmGSJoQRnnqWjTSippH97y96uke1H3GvVG+7LWvCmaKZMTckrOiUeuSJPckRbpEE6APJFn8uJY59V5c95/RktOsXNM/sD5+AaD35GI</latexit>

t

tokens needed from



Pre-set and post-set
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A place p is an input place for transition t i↵
(p, t) 2 F

We let •t denote the set of input places of t.
(pre-set of t)

A place p is an output place for transition t i↵
(t, p) 2 F

We let t• denote the set of output places of t.
(post-set of t)

<latexit sha1_base64="3Y739Q7EquIASbX1LA7CWb5HS0c=">AAAB83icbVC7TsNAEDyHVwivACXNiQiJKrIRCpQRNJSJRB5SYkXnyyaccj5bd3tIkZUvoIWKDtHyQRT8C7ZxAQlTjWZ2tbMTxFIYdN1Pp7S2vrG5Vd6u7Ozu7R9UD4+6JrKaQ4dHMtL9gBmQQkEHBUroxxpYGEjoBbPbzO89gjYiUvc4j8EP2VSJieAMU6mNo2rNrbs56CrxClIjBVqj6tdwHHEbgkIumTEDz43RT5hGwSUsKkNrIGZ8xqYwSKliIRg/yYMu6Jk1DCMag6ZC0lyE3xsJC42Zh0E6GTJ8MMteJv7nDSxOrv1EqNgiKJ4dQiEhP2S4FmkDQMdCAyLLkgMVinKmGSJoQRnnqWjTSippH97y96uke1H3GvVG+7LWvCmaKZMTckrOiUeuSJPckRbpEE6APJFn8uJY59V5c95/RktOsXNM/sD5+AaD35GI</latexit>

t

<latexit sha1_base64="gQUNpOLcCiNh6eKXG8wAdYfgOs4=">AAAB+3icbVC7TsNAEDyHVwivACXNiQiJKrIRCpQRNJRBIg+UWNH5sgmn3NnW3R5SZOUraKGiQ7R8DAX/gm1cQMJUo5ld7ewEsRQGXffTKa2srq1vlDcrW9s7u3vV/YOOiazm0OaRjHQvYAakCKGNAiX0Yg1MBRK6wfQ687uPoI2IwjucxeArNgnFWHCGqXSPdBBYKQGH1Zpbd3PQZeIVpEYKtIbVr8Eo4lZBiFwyY/qeG6OfMI2CS5hXBtZAzPiUTaCf0pApMH6SB57TE2sYRjQGTYWkuQi/NxKmjJmpIJ1UDB/MopeJ/3l9i+NLPxFhbBFCnh1CISE/ZLgWaRNAR0IDIsuSAxUh5UwzRNCCMs5T0abVVNI+vMXvl0nnrO416o3b81rzqmimTI7IMTklHrkgTXJDWqRNOFHkiTyTF2fuvDpvzvvPaMkpdg7JHzgf32wMlNw=</latexit>

t•tokens produced in



Example: pre and post

29

q0 q2

t
•t = { q0, q2 }
t• = { q0 }



Pre-set and post-set
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Analogously, we let
•p denote the set of transitions that share p as output place
p• denote the set of transitions that share p as input place

Formally:
•x = { y | (y, x) 2 F }
x• = { y | (x, y) 2 F }
where tokens 

can come from
<latexit sha1_base64="H9i+Im7g436ZHU3piJBIopqrvGM=">AAAB+3icbVC7TsNAEDyHVwivACXNiQiJKrIRCpQRNJRBIg+UWNH5sgmnnM/W3R5SZOUraKGiQ7R8DAX/gm1cQMJUo5ld7ewEsRQGXffTKa2srq1vlDcrW9s7u3vV/YOOiazm0OaRjHQvYAakUNBGgRJ6sQYWBhK6wfQ687uPoI2I1B3OYvBDNlFiLDjDVLofBFZKQBoPqzW37uagy8QrSI0UaA2rX4NRxG0ICrlkxvQ9N0Y/YRoFlzCvDKyBmPEpm0A/pYqFYPwkDzynJ9YwjGgMmgpJcxF+byQsNGYWBulkyPDBLHqZ+J/Xtzi+9BOhYougeHYIhYT8kOFapE0AHQkNiCxLDlQoyplmiKAFZZynok2rqaR9eIvfL5POWd1r1Bu357XmVdFMmRyRY3JKPHJBmuSGtEibcBKSJ/JMXpy58+q8Oe8/oyWn2Dkkf+B8fANnOJTY</latexit>•p

<latexit sha1_base64="zhNSI0sk5jkL1Ju5bZNWOX7D9Qs=">AAAB/HicbVC7TsNAEDzzDOEVoKQ5ESFRRTZCgTKChjJI5CESKzpfNuGU89m620OKrPAVtFDRIVr+hYJ/wTYuIGGq0cyudnaCWAqDrvvpLC2vrK6tlzbKm1vbO7uVvf22iazm0OKRjHQ3YAakUNBCgRK6sQYWBhI6weQq8zsPoI2I1C1OY/BDNlZiJDjDVLqLaT+wUgLSQaXq1twcdJF4BamSAs1B5as/jLgNQSGXzJie58boJ0yj4BJm5b41EDM+YWPopVSxEIyf5Iln9NgahhGNQVMhaS7C742EhcZMwyCdDBnem3kvE//zehZHF34iVGwRFM8OoZCQHzJci7QKoEOhAZFlyYEKRTnTDBG0oIzzVLRpN+W0D2/++0XSPq159Vr95qzauCyaKZFDckROiEfOSYNckyZpEU4UeSLP5MV5dF6dN+f9Z3TJKXYOyB84H9/AA5UC</latexit>p•

<latexit sha1_base64="1HuYsH8hWf7Ke8aPXKZ4h349pnM=">AAAB83icbVC7TsNAEDyHVwivACXNiQiJKrIRCpQRNJSJRB5SYkXnyyaccj6f7tZIkZUvoIWKDtHyQRT8C7ZxAQlTjWZ2tbMTaCksuu6nU1pb39jcKm9Xdnb39g+qh0ddG8WGQ4dHMjL9gFmQQkEHBUroawMsDCT0gtlt5vcewVgRqXuca/BDNlViIjjDVGrrUbXm1t0cdJV4BamRAq1R9Ws4jngcgkIumbUDz9XoJ8yg4BIWlWFsQTM+Y1MYpFSxEKyf5EEX9Cy2DCOqwVAhaS7C742EhdbOwyCdDBk+2GUvE//zBjFOrv1EKB0jKJ4dQiEhP2S5EWkDQMfCACLLkgMVinJmGCIYQRnnqRinlVTSPrzl71dJ96LuNeqN9mWteVM0UyYn5JScE49ckSa5Iy3SIZwAeSLP5MWJnVfnzXn/GS05xc4x+QPn4xt9o5GE</latexit>p

where tokens 
can go to

<latexit sha1_base64="H9i+Im7g436ZHU3piJBIopqrvGM=">AAAB+3icbVC7TsNAEDyHVwivACXNiQiJKrIRCpQRNJRBIg+UWNH5sgmnnM/W3R5SZOUraKGiQ7R8DAX/gm1cQMJUo5ld7ewEsRQGXffTKa2srq1vlDcrW9s7u3vV/YOOiazm0OaRjHQvYAakUNBGgRJ6sQYWBhK6wfQ687uPoI2I1B3OYvBDNlFiLDjDVLofBFZKQBoPqzW37uagy8QrSI0UaA2rX4NRxG0ICrlkxvQ9N0Y/YRoFlzCvDKyBmPEpm0A/pYqFYPwkDzynJ9YwjGgMmgpJcxF+byQsNGYWBulkyPDBLHqZ+J/Xtzi+9BOhYougeHYIhYT8kOFapE0AHQkNiCxLDlQoyplmiKAFZZynok2rqaR9eIvfL5POWd1r1Bu357XmVdFMmRyRY3JKPHJBmuSGtEibcBKSJ/JMXpy58+q8Oe8/oyWn2Dkkf+B8fANnOJTY</latexit>•p

<latexit sha1_base64="zhNSI0sk5jkL1Ju5bZNWOX7D9Qs=">AAAB/HicbVC7TsNAEDzzDOEVoKQ5ESFRRTZCgTKChjJI5CESKzpfNuGU89m620OKrPAVtFDRIVr+hYJ/wTYuIGGq0cyudnaCWAqDrvvpLC2vrK6tlzbKm1vbO7uVvf22iazm0OKRjHQ3YAakUNBCgRK6sQYWBhI6weQq8zsPoI2I1C1OY/BDNlZiJDjDVLqLaT+wUgLSQaXq1twcdJF4BamSAs1B5as/jLgNQSGXzJie58boJ0yj4BJm5b41EDM+YWPopVSxEIyf5Iln9NgahhGNQVMhaS7C742EhcZMwyCdDBnem3kvE//zehZHF34iVGwRFM8OoZCQHzJci7QKoEOhAZFlyYEKRTnTDBG0oIzzVLRpN+W0D2/++0XSPq159Vr95qzauCyaKZFDckROiEfOSYNckyZpEU4UeSLP5MV5dF6dN+f9Z3TJKXYOyB84H9/AA5UC</latexit>p•

<latexit sha1_base64="1HuYsH8hWf7Ke8aPXKZ4h349pnM=">AAAB83icbVC7TsNAEDyHVwivACXNiQiJKrIRCpQRNJSJRB5SYkXnyyaccj6f7tZIkZUvoIWKDtHyQRT8C7ZxAQlTjWZ2tbMTaCksuu6nU1pb39jcKm9Xdnb39g+qh0ddG8WGQ4dHMjL9gFmQQkEHBUroawMsDCT0gtlt5vcewVgRqXuca/BDNlViIjjDVGrrUbXm1t0cdJV4BamRAq1R9Ws4jngcgkIumbUDz9XoJ8yg4BIWlWFsQTM+Y1MYpFSxEKyf5EEX9Cy2DCOqwVAhaS7C742EhdbOwyCdDBk+2GUvE//zBjFOrv1EKB0jKJ4dQiEhP2S5EWkDQMfCACLLkgMVinJmGCIYQRnnqRinlVTSPrzl71dJ96LuNeqN9mWteVM0UyYn5JScE49ckSa5Iy3SIZwAeSLP5MWJnVfnzXn/GS05xc4x+QPn4xt9o5GE</latexit>p



Pre-set and post-set
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Analogously, we let
•p denote the set of transitions that share p as output place
p• denote the set of transitions that share p as input place

Formally:
•x = { y | (y, x) 2 F }
x• = { y | (x, y) 2 F }

pre-set
post-set



Question time
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•p1 = ?
•p2 = ?
•p3 = ?
•p4 = ?
•p5 = ?
•p6 = ?
•p7 = ?

p1• = ?
p2• = ?
p3• = ?
p4• = ?
p5• = ?
p6• = ?
p7• = ?

t1• = ?
t2• = ?
t3• = ?
t4• = ?
t5• = ?

•t1 = ?
•t2 = ?
•t3 = ?
•t4 = ?
•t5 = ?



Petri nets: 
enabling and firing

33



Enabling M[t⟩

34

A transition t is enabled at marking M i↵ •t ✓ M

and we write M
t�! (also M [ti)

A transition t that is enabled at M can fire.
The firing of t at M changes the state to

M 0 = M � •t+ t•

and we write M
t�! M 0 (also M [tiM 0)

A transition is enabled if each of its input places 
contains at least one token 

(a set can be seen 
as a multiset 

whose elements 
have multiplicity 1)



Question time
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M0 = p1 + p2 + p3 + p5 + p6

Which of the following holds true?

• M0
t1�!

• M0
t2�!

• M0
t3�!

• M0
t7�!



Question time
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M0 = p1 + p2 + p3 + p5 + p6

Which of the following holds true?

• M0
t1�!

• M0
t2�!

• M0
t3�!

• M0
t7�!

Yes

Yes

No (no token in p4)

No (no token in p4)



Firing M[t>M’
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A transition t is enabled at marking M i↵ •t ✓ M

and we write M
t�! (also M [ti)

A transition t that is enabled at M can fire.
The firing of t at M changes the state to

M 0 = M � •t+ t•

and we write M
t�! M 0 (also M [tiM 0)

When a transition fires  
it consumes a token from each input place 
it produces a token into each output place



Question time
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M0 = p1 + p2 + p3 + p5 + p6

Which of the following holds true?

• M0
t1�! p3 + p4 + p5 + p6

• M0
t2�! p1 + p4 + p6

• M0
t4�! 2p1 + 2p2 + 2p3 + p5



Question time
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M0 = p1 + p2 + p3 + p5 + p6

Which of the following holds true?

• M0
t1�! p3 + p4 + p5 + p6

• M0
t2�! p1 + p4 + p6

• M0
t4�! 2p1 + 2p2 + 2p3 + p5

No (2p6)

Yes

Yes



Some remarks
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Firing is an atomic action 

Our semantics is interleaving: 
multiple transitions may be enabled,  

but only one fires at a time 

The network is static, but 
the overall number of tokens may vary over time 

(if transitions are fired for which the number of input 
places is not equal to the number of output places) 



Example
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enabled

p1

t1



Example

42

enabledenabled

fired

p1

t1

p2 + p3

t2 / t3



Example
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enabled

fired

p1

t1

p2 + p3

t2
p1 + p2

t1



Example
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enabledenabled

fired

p1

t1

p2 + p3

t2
p1 + p2

t1
2p2 + p3

t2 / t3



Example
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enabled

fired

p1

t1

p2 + p3

t2
p1 + p2

t1
2p2 + p3

t3
p2 + p4

t4



Example
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enabled

fired

enabled

p1

t1

p2 + p3

t2
p1 + p2

t1
2p2 + p3

t3
p2 + p4

t4
p2 + p3

t2 / t3



Example
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enabled

fired

p1

t1

p2 + p3

t2
p1 + p2

t1
2p2 + p3

t3
p2 + p4

t4
p2 + p3

t2 / t3
p4

t4



Example
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enabled

fired

p1

t1

p2 + p3

t2
p1 + p2

t1
2p2 + p3

t3
p2 + p4

t4
p2 + p3

t2 / t3
p4

t4

p3t2



Example
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enabled

fired

p1

t1

p2 + p3

t2
p1 + p2

t1
2p2 + p3

t3
p2 + p4

t4
p2 + p3

t2 / t3
p4

t4

p3t2
p1t1



Question time
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Which model looks more reasonable?



Patterns: sequence
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Patterns: XOR split
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Patterns: AND split
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Patterns: OR split
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Question time: which 
pattern?
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Question time: which 
pattern?
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AND join



http://woped.dhbw-karlsruhe.de/woped/

WoPeD

http://woped.dhbw-karlsruhe.de/woped/


Notation
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We write M ! if M
t! for some transition t

We write M ! M 0 if M
t! M 0 for some transition t

We write M 6 t! if transition t is not enabled at M

We write M 6! if no transition is enabled at M



Example
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M0 = p1 + p2 + p3 + p5 + p6

We can write that

• M0 �!

• M0 �! p1 + p4 + p6

• M0 6 t7�!

• p1 + p5 6�!

(by firing t2)

(there are enabled transitions, e.g., t1)



Firing sequence
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Let � = t1t2...tn�1 2 T ⇤ be a sequence of transitions.

We write M
�! M 0 (and M

�!) if:

there is a sequence of markings M1, ...,Mn

with M = M1 and M 0 = Mn

and Mi
ti�! Mi+1 for 1  i < n

(i.e. M = M1
t1�! M2

t2�! ...
tn�1�! Mn = M 0)



Example
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enabled

p1

t1



Example
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enabledenabled

fired

p1

t1

p2 + p3

t2 / t3



Example
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enabled

fired

p1

t1 t2

p1 + p2

t1



Example
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enabledenabled

fired

p1

t1 t2 t1

2p2 + p3

t2 / t3



Reachable markings [M⟩
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We write M
⇤! M 0 if M

�! M 0 for some � 2 T ⇤

A marking M 0 is reachable from M if M
⇤! M 0

Note that M
✏! M for ✏ the empty sequence

The set of markings reachable from M is often denoted:

reach(M) or also [Mi



Question time

66

M0 = p1 + p2 + p3 + p5 + p6

Which of the following holds true?

• M0
t1t4t2t3������!

• M0
t2t7t4�����!

• M0
t1t2t7�����!

• M0
t1t4t2t1������!



Question time
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M0 = p1 + p2 + p3 + p5 + p6

Which of the following holds true?

• M0
t1t4t2t3������!

• M0
t2t7t4�����!

• M0
t1t2t7�����!

• M0
t1t4t2t1������!

Yes

Yes

No (t2 not enabled)

No (t1 not enabled)



Example
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M0 = p1 + p2 + p3 + p5 + p6

We have that

• M0
t1t4t2t3������! p4 + p5 + p6

• M0
t2t7t4�����! 2p1 + 2p2 + p3 + p6

• M0
t1t4t3t2t7�������! p2 + p5 + 2p6



Infinite sequence
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Let � = t1t2... 2 T! be an infinite sequence of transitions.

We write M
�! if:

there is an infinite sequence of markings M1,M2, ...

with M = M1 and Mi
ti�! Mi+1 for 1  i

(i.e. M = M1
t1�! M2

t2�! ...)



Example
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M0 = p1 + p2 + p3 + p5 + p6

We have that

• M0
t1t4t1t4t1t4···����������!

• M0
t1t4t7t1t4t7t1t4t7···��������������!



Enabled sequence
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We say that an occurrence sequence � is enabled if M
��!

(� can be finite or infinite)

Note that an infinite sequence can be represented as
a map � : N ! T , where �(i) = ti



More on sequences: 
concatenation & prefix
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Concatenation:
for ⇥1 = a1...an and ⇥2 = b1...bm, we let ⇥1⇥2 = a1...anb1...bm
for ⇥1 = a1...an and ⇥2 = b1b2..., we let ⇥1⇥2 = a1...anb1b2...

⇥ is a prefix of ⇥� if ⇥ = ⇥� or ⇥⇥�� = ⇥� for some ⇥��

⇥ is a proper prefix of ⇥� if ⇥⇥�� = ⇥� for some ⇥��

Restriction: (also extraction / projection)
given T � � T we inductively define ⇥|T � as:

�|T � = � (t⇥)|T � =

�
t(⇥|T �) if t ⇥ T �

⇥|T � if t ⇤⇥ T �

6= ✏
6= ✏

finite + finite = finite

finite + infinite = infinite



Example: prefixes
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<latexit sha1_base64="BLGTv47I8fqqi8KXst1J5AXXj10=">AAAB/3icbVC7TsNAEDyHVwivACXNiQiJKrJDeJQRNJRBIg8psazzZRNOOZ/N3RopslLwFbRQ0SFaPoWCf8E2KSBhqtHMrnZ2/EgKg7b9aRWWlldW14rrpY3Nre2d8u5e24Sx5tDioQx112cGpFDQQoESupEGFvgSOv74KvM7D6CNCNUtTiJwAzZSYig4w1Ry0XPQq6NXQ++k5JUrdtXOQReJMyMVMkPTK3/1ByGPA1DIJTOm59gRugnTKLiEaakfG4gYH7MR9FKqWADGTfLQU3oUG4YhjUBTIWkuwu+NhAXGTAI/nQwY3pl5LxP/83oxDi/cRKgoRlA8O4RCQn7IcC3SNoAOhAZEliUHKhTlTDNE0IIyzlMxTuvJ+nDmv18k7VrVOaue3tQrjctZM0VyQA7JMXHIOWmQa9IkLcLJPXkiz+TFerRerTfr/We0YM129skfWB/fFGCVqw==</latexit>

t1t4t2t3

<latexit sha1_base64="/9liApBLPTeX3nxRQ8LbxVyISK0=">AAAB/HicbVC7TsNAEDzzDOEVoKQ5ESFRRXYUHmUEDWWQyEMklnW+bMIp57N1t0aKrPAVtFDRIVr+hYJ/wTYuIGGq0cyudnb8SAqDtv1pLS2vrK6tlzbKm1vbO7uVvf2OCWPNoc1DGeqezwxIoaCNAiX0Ig0s8CV0/clV5ncfQBsRqlucRuAGbKzESHCGqXSHnoNeA7162atU7Zqdgy4SpyBVUqDlVb4Gw5DHASjkkhnTd+wI3YRpFFzCrDyIDUSMT9gY+ilVLADjJnniGT2ODcOQRqCpkDQX4fdGwgJjpoGfTgYM7828l4n/ef0YRxduIlQUIyieHUIhIT9kuBZpFUCHQgMiy5IDFYpyphkiaEEZ56kYp91kfTjz3y+STr3mnNVObxrV5mXRTIkckiNyQhxyTprkmrRIm3CiyBN5Ji/Wo/VqvVnvP6NLVrFzQP7A+vgGAWKUhw==</latexit>

t1t4t2

<latexit sha1_base64="tzHqofyXanat0s+Wdnzj1TaBJfc=">AAAB+XicbVC7TsNAEDyHVwivACXNiQiJKrJReJQRNJRBIg8psaL1ZRNOOT90t0aKrHwELVR0iJavoeBfsI0LSJhqNLOrnR0vUtKQbX9apZXVtfWN8mZla3tnd6+6f9AxYawFtkWoQt3zwKCSAbZJksJepBF8T2HXm95kfvcRtZFhcE+zCF0fJoEcSwGUSl0aOjRsVIbVml23c/Bl4hSkxgq0htWvwSgUsY8BCQXG9B07IjcBTVIonFcGscEIxBQm2E9pAD4aN8njzvlJbIBCHqHmUvFcxN8bCfjGzHwvnfSBHsyil4n/ef2YxlduIoMoJgxEdoikwvyQEVqmPSAfSY1EkCVHLgMuQAMRaslBiFSM02KyPpzF75dJ56zuXNTP7xq15nXRTJkdsWN2yhx2yZrslrVYmwk2ZU/smb1YifVqvVnvP6Mlq9g5ZH9gfXwD8waTZA==</latexit>

t1t4

<latexit sha1_base64="Y8/vYZkg/huAblxl4S6RljK3yGs=">AAAB9nicbVC7TsNAEFzzDOEVoKQ5ESFRRTbiVUbQUAaJPKTEis6XTXLK+aG7NSKy8gu0UNEhWn6Hgn/BNi4gYarRzK52drxISUO2/WktLa+srq2XNsqbW9s7u5W9/ZYJYy2wKUIV6o7HDSoZYJMkKexEGrnvKWx7k5vMbz+gNjIM7mkaoevzUSCHUnDKpb5T7leqds3OwRaJU5AqFGj0K1+9QShiHwMSihvTdeyI3IRrkkLhrNyLDUZcTPgIuykNuI/GTfKsM3YcG04hi1AzqVgu4u+NhPvGTH0vnfQ5jc28l4n/ed2YhlduIoMoJgxEdoikwvyQEVqmJSAbSI1EPEuOTAZMcM2JUEvGhUjFOG0l68OZ/36RtE5rzkXt/O6sWr8uminBIRzBCThwCXW4hQY0QcAYnuAZXqxH69V6s95/RpesYucA/sD6+AbkwJI/</latexit>

t1

<latexit sha1_base64="AdBtb8qzWnYoi7qaaSxRdqtbQZQ=">AAAB+3icbVC7TsNAEDyHVwivACXNiQiJKrIRrzKChjJI5IESKzpfNuGU8/l0t0aKrHwFLVR0iJaPoeBfsI0LSJhqNLOrnZ1AS2HRdT+d0tLyyupaeb2ysbm1vVPd3WvbKDYcWjySkekGzIIUClooUEJXG2BhIKETTK4zv/MIxopI3eFUgx+ysRIjwRmm0n0ftBUyUpVBtebW3Rx0kXgFqZECzUH1qz+MeByCQi6ZtT3P1egnzKDgEmaVfmxBMz5hY+ilVLEQrJ/kgWf0KLYMI6rBUCFpLsLvjYSF1k7DIJ0MGT7YeS8T//N6MY4u/UQoHSMonh1CISE/ZLkRaRNAh8IAIsuSAxWKcmYYIhhBGeepGKfVZH14898vkvZJ3Tuvn92e1hpXRTNlckAOyTHxyAVpkBvSJC3CSUieyDN5cWbOq/PmvP+MlpxiZ5/8gfPxDUghlMM=</latexit>✏

sequence

prefixes

<latexit sha1_base64="BLGTv47I8fqqi8KXst1J5AXXj10=">AAAB/3icbVC7TsNAEDyHVwivACXNiQiJKrJDeJQRNJRBIg8psazzZRNOOZ/N3RopslLwFbRQ0SFaPoWCf8E2KSBhqtHMrnZ2/EgKg7b9aRWWlldW14rrpY3Nre2d8u5e24Sx5tDioQx112cGpFDQQoESupEGFvgSOv74KvM7D6CNCNUtTiJwAzZSYig4w1Ry0XPQq6NXQ++k5JUrdtXOQReJMyMVMkPTK3/1ByGPA1DIJTOm59gRugnTKLiEaakfG4gYH7MR9FKqWADGTfLQU3oUG4YhjUBTIWkuwu+NhAXGTAI/nQwY3pl5LxP/83oxDi/cRKgoRlA8O4RCQn7IcC3SNoAOhAZEliUHKhTlTDNE0IIyzlMxTuvJ+nDmv18k7VrVOaue3tQrjctZM0VyQA7JMXHIOWmQa9IkLcLJPXkiz+TFerRerTfr/We0YM129skfWB/fFGCVqw==</latexit>

t1t4t2t3

<latexit sha1_base64="TkrPRQ3Wn/pwHNTQe4KBJT7yKag=">AAACFnicbVC7TsNAEDyHVwgvAyXNKRESVWSjQCgjaCiDRB5SYlnnyyaccn7obo0UWen5BL6CFio6REtLwb9gGxeQMNVoZle7M14khUbL+jRKK6tr6xvlzcrW9s7unrl/0NVhrDh0eChD1feYBikC6KBACf1IAfM9CT1vepX5vXtQWoTBLc4icHw2CcRYcIap5JpVdG10G+g2l8mQj0LUFdesWXUrB10mdkFqpEDbNb+Go5DHPgTIJdN6YFsROglTKLiEeWUYa4gYn7IJDFIaMB+0k+RZ5vQ41gxDGoGiQtJchN8bCfO1nvleOukzvNOLXib+5w1iHF84iQiiGCHg2SEUEvJDmiuRlgR0JBQgsuxzoCKgnCmGCEpQxnkqxmlrWR/2Yvpl0j2t2+f1s5tGrXVZNFMmR6RKTohNmqRFrkmbdAgnD+SJPJMX49F4Nd6M95/RklHsHJI/MD6+ASkSnlA=</latexit>

t1t4t7t1t4t7t1t4t7 · · ·

<latexit sha1_base64="9Bxtk/lt9XTQ43hH6FUA33WoYps=">AAACBHicbVC7TsNAEDyHVwgvAyXNiQiJKrJRIJQRNJRBIg8psazzZRNOOT90t44UWWn5Clqo6BAt/0HBv2A7LiBhqtHMrnZ2vEgKjZb1ZZTW1jc2t8rblZ3dvf0D8/Coo8NYcWjzUIaq5zENUgTQRoESepEC5nsSut7kNvO7U1BahMEDziJwfDYOxEhwhqnkmia6Nrp1dBsLUnHNqlWzctBVYhekSgq0XPN7MAx57EOAXDKt+7YVoZMwhYJLmFcGsYaI8QkbQz+lAfNBO0mefE7PYs0wpBEoKiTNRfi9kTBf65nvpZM+w0e97GXif14/xtG1k4ggihECnh1CISE/pLkSaSVAh0IBIsuSAxUB5UwxRFCCMs5TMU47yvqwl79fJZ2Lmn1Vu7yvV5s3RTNlckJOyTmxSYM0yR1pkTbhZEqeyQt5NZ6MN+Pd+FiMloxi55j8gfH5A6oDlwQ=</latexit>

t1t4t7t1t4

<latexit sha1_base64="BEc9VJOEOC7eM9WvU7fyszoK46g=">AAAB/3icbVC7TsNAEDyHVwivACXNiQiJKrIREMoIGsogkYeUWNb5sgmnnM/mbo0UWSn4Clqo6BAtn0LBv2AbF5Aw1WhmVzs7fiSFQdv+tEpLyyura+X1ysbm1vZOdXevY8JYc2jzUIa65zMDUihoo0AJvUgDC3wJXX9ylfndB9BGhOoWpxG4ARsrMRKcYSq56DnonaLXSEnFq9bsup2DLhKnIDVSoOVVvwbDkMcBKOSSGdN37AjdhGkUXMKsMogNRIxP2Bj6KVUsAOMmeegZPYoNw5BGoKmQNBfh90bCAmOmgZ9OBgzvzLyXif95/RhHF24iVBQjKJ4dQiEhP2S4FmkbQIdCAyLLkgMVinKmGSJoQRnnqRin9WR9OPPfL5LOSd05r5/dnNaal0UzZXJADskxcUiDNMk1aZE24eSePJFn8mI9Wq/Wm/X+M1qyip198gfWxzcZH5Wu</latexit>

t1t4t7t1

<latexit sha1_base64="c2FfRJu4h1G3Ye/929HSJgPJSyo=">AAAB/HicbVC7TsNAEDyHVwivACXNiQiJKrIREMoIGsogkYdILOt82YRTzmfrbo0UWeEraKGiQ7T8CwX/gm1cQMJUo5ld7ez4kRQGbfvTKi0tr6yuldcrG5tb2zvV3b2OCWPNoc1DGeqezwxIoaCNAiX0Ig0s8CV0/clV5ncfQBsRqlucRuAGbKzESHCGqXSHnoPeKXqNilet2XU7B10kTkFqpEDLq34NhiGPA1DIJTOm79gRugnTKLiEWWUQG4gYn7Ax9FOqWADGTfLEM3oUG4YhjUBTIWkuwu+NhAXGTAM/nQwY3pt5LxP/8/oxji7cRKgoRlA8O4RCQn7IcC3SKoAOhQZEliUHKhTlTDNE0IIyzlMxTrvJ+nDmv18knZO6c14/uzmtNS+LZsrkgBySY+KQBmmSa9IibcKJIk/kmbxYj9ar9Wa9/4yWrGJnn/yB9fENCTKUjA==</latexit>

t1t4t7

<latexit sha1_base64="tzHqofyXanat0s+Wdnzj1TaBJfc=">AAAB+XicbVC7TsNAEDyHVwivACXNiQiJKrJReJQRNJRBIg8psaL1ZRNOOT90t0aKrHwELVR0iJavoeBfsI0LSJhqNLOrnR0vUtKQbX9apZXVtfWN8mZla3tnd6+6f9AxYawFtkWoQt3zwKCSAbZJksJepBF8T2HXm95kfvcRtZFhcE+zCF0fJoEcSwGUSl0aOjRsVIbVml23c/Bl4hSkxgq0htWvwSgUsY8BCQXG9B07IjcBTVIonFcGscEIxBQm2E9pAD4aN8njzvlJbIBCHqHmUvFcxN8bCfjGzHwvnfSBHsyil4n/ef2YxlduIoMoJgxEdoikwvyQEVqmPSAfSY1EkCVHLgMuQAMRaslBiFSM02KyPpzF75dJ56zuXNTP7xq15nXRTJkdsWN2yhx2yZrslrVYmwk2ZU/smb1YifVqvVnvP6Mlq9g5ZH9gfXwD8waTZA==</latexit>

t1t4

<latexit sha1_base64="Y8/vYZkg/huAblxl4S6RljK3yGs=">AAAB9nicbVC7TsNAEFzzDOEVoKQ5ESFRRTbiVUbQUAaJPKTEis6XTXLK+aG7NSKy8gu0UNEhWn6Hgn/BNi4gYarRzK52drxISUO2/WktLa+srq2XNsqbW9s7u5W9/ZYJYy2wKUIV6o7HDSoZYJMkKexEGrnvKWx7k5vMbz+gNjIM7mkaoevzUSCHUnDKpb5T7leqds3OwRaJU5AqFGj0K1+9QShiHwMSihvTdeyI3IRrkkLhrNyLDUZcTPgIuykNuI/GTfKsM3YcG04hi1AzqVgu4u+NhPvGTH0vnfQ5jc28l4n/ed2YhlduIoMoJgxEdoikwvyQEVqmJSAbSI1EPEuOTAZMcM2JUEvGhUjFOG0l68OZ/36RtE5rzkXt/O6sWr8uminBIRzBCThwCXW4hQY0QcAYnuAZXqxH69V6s95/RpesYucA/sD6+AbkwJI/</latexit>

t1

<latexit sha1_base64="AdBtb8qzWnYoi7qaaSxRdqtbQZQ=">AAAB+3icbVC7TsNAEDyHVwivACXNiQiJKrIRrzKChjJI5IESKzpfNuGU8/l0t0aKrHwFLVR0iJaPoeBfsI0LSJhqNLOrnZ1AS2HRdT+d0tLyyupaeb2ysbm1vVPd3WvbKDYcWjySkekGzIIUClooUEJXG2BhIKETTK4zv/MIxopI3eFUgx+ysRIjwRmm0n0ftBUyUpVBtebW3Rx0kXgFqZECzUH1qz+MeByCQi6ZtT3P1egnzKDgEmaVfmxBMz5hY+ilVLEQrJ/kgWf0KLYMI6rBUCFpLsLvjYSF1k7DIJ0MGT7YeS8T//N6MY4u/UQoHSMonh1CISE/ZLkRaRNAh8IAIsuSAxWKcmYYIhhBGeepGKfVZH14898vkvZJ3Tuvn92e1hpXRTNlckAOyTHxyAVpkBvSJC3CSUieyDN5cWbOq/PmvP+MlpxiZ5/8gfPxDUghlMM=</latexit>✏

<latexit sha1_base64="axZps5KA6ejvj/l8/NbRgcnJ1C0=">AAAB+XicbVC7TsNAEFzzDOEVoKQ5ESFRRTbiVUbQUAaJPKQkis6XTTjlfLbu1kiRlY+ghYoO0fI1FPwLtnEBCVONZna1s+NHSlpy3U9naXlldW29tFHe3Nre2a3s7bdsGBuBTRGq0HR8blFJjU2SpLATGeSBr7DtT24yv/2IxspQ39M0wn7Ax1qOpOCUSu2eGIZky4NK1a25Odgi8QpShQKNQeWrNwxFHKAmobi1Xc+NqJ9wQ1IonJV7scWIiwkfYzelmgdo+0ked8aOY8spZBEaJhXLRfy9kfDA2mngp5MBpwc772Xif143ptFVP5E6igm1yA6RVJgfssLItAdkQ2mQiGfJkUnNBDecCI1kXIhUjNNisj68+e8XSeu05l3Uzu/OqvXropkSHMIRnIAHl1CHW2hAEwRM4Ame4cVJnFfnzXn/GV1yip0D+APn4xufMZPS</latexit>· · ·



Enabledness
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Proposition: M
��! i↵ M

�0
�! for every prefix �0 of �

()) immediate from definition

(() trivial if � is finite (� itself is a prefix of �)

When � is infinite: taken any i 2 N we need to prove that ti = �(i) is enabled
after the firing of the prefix �0 = t1t2...ti�1 of �.

But this is obvious, because

M
t1�! M1

t2�! ...
ti�1�! Mi�1

ti�! Mi

is also a finite prefix of � and therefore Mi�1
ti�!



More on sequences: 
projection
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Concatenation:
for ⇥1 = a1...an and ⇥2 = b1...bm, we let ⇥1⇥2 = a1...anb1...bm
for ⇥1 = a1...an and ⇥2 = b1b2..., we let ⇥1⇥2 = a1...anb1b2...

⇥ is a prefix of ⇥� if ⇥ = ⇥� or ⇥⇥�� = ⇥� for some ⇥��

⇥ is a proper prefix of ⇥� if ⇥⇥�� = ⇥� for some ⇥��

Restriction: (also extraction / projection)
given T � � T we inductively define ⇥|T � as:

�|T � = � (t⇥)|T � =

�
t(⇥|T �) if t ⇥ T �

⇥|T � if t ⇤⇥ T �



Example
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(t1t4t7t1t4t7)|{t1,t4} = t1(t4t7t1t4t7)|{t1,t4}
= t1t4(t7t1t4t7)|{t1,t4}
= t1t4(t1t4t7)|{t1,t4}
= t1t4t1(t4t7)|{t1,t4}
= t1t4t1t4(t7)|{t1,t4}
= t1t4t1t4(t7✏)|{t1,t4}
= t1t4t1t4(✏)|{t1,t4}
= t1t4t1t4✏

= t1t4t1t4



Exercises
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Determine the pre- and post-set of each element 

Which are the currently enabled transitions? 
For each of them, which state would the firing lead to? 

What are the reachable states?

Which transitions are enabled? 
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r1

rg1

g1

go1

o1

or1

r2

rg2

g2

go2

o2

or2

x y

t1

p1

t2

p2

t4

t3

p3



Exercises
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Which are the currently enabled transitions? 

For each of them, which state would the firing lead to? 

What are the reachable states?



Petri nets: 
occurrence graph
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Occurrence graph  
(aka Reachability graph)
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The reachability graph is a graph that represents 
all possible occurrence sequences of a net 

 Nodes of the graphs = reachable markings 
Arcs of the graphs = firings

Formally, OG(N) = ([M0i, A) where A ✓ [M0i ⇥ T ⇥ [M0i s.t.

(M, t,M
0) 2 A i↵ M

t�! M
0
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Adding one arc at the time: 

1. Initially R = { M0 } and A = ∅ 
2. Take a marking M ∈ R and a transition t ∈ T such that 

1. M enables t and there is no arc labelled t leaving from M 

3. Let M' = M - •t + t• 
4. Add M' to R and (M,t,M') to A 
5. Repeat steps 2,3,4 until no new arc can be added

How to compute OG(N)



How to compute OG(N)
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The occurrence graph can be constructed as follows:

1. Nodes = {}, Arcs = {}, Todo = {M0}

2. M = next(Todo)

3. Nodes = Nodes [ {M}, Todo = Todo \ {M}

4. Firings = {(M, t,M 0) | 9t 2 T, 9M 0 2 µ(P ), M
t�! M 0}

5. New = {M 0 | (M, t,M 0) 2 Firings} \ (Nodes [ Todo)

6. Todo = Todo [ New , Arcs = Arcs [ Firings

7. isEmpty(Todo) ? stop : goto 2

Adding all exiting arcs each time: markings to explore

select one marking to explore

update nodes

collect all firings from M

find new markings to explore

update nodes  
and arcs

repeat if there are still markings 
to be explored



Example: traffic light
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red



Example: traffic light
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red

green

go-green



Example: traffic light
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red

green

go-green

yellow go-yellow



Example: traffic light
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red

green

go-green

yellow go-yellow

go-red



Example: two traffic 
lights
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red + red’



Example: two traffic 
lights
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red + red’

(we omit arc labels 
for readability issues)



Example: two traffic 
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red + red’

green + red’

red + green’

(we omit arc labels 
for readability issues)



Example: two traffic 
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red + green’

green + green’

(we omit arc labels 
for readability issues)
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red + red’

green + red’

yellow + red’

red + green’

green + green’

yellow + green’

(we omit arc labels 
for readability issues)



Example: two traffic 
lights
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red + red’

green + red’

yellow + red’

red + green’

green + green’

yellow + green’
red + yellow’

(we omit arc labels 
for readability issues)



Example: two traffic 
lights
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red + red’

green + red’

yellow + red’

red + green’

green + green’

yellow + green’
red + yellow’

green + yellow’
(we omit arc labels 

for readability issues)
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red + red’

green + red’

yellow + red’

red + green’

green + green’

yellow + green’
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yellow + yellow’

(we omit arc labels 
for readability issues)



Example: two traffic 
lights
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red + red’

green + red’

yellow + red’

red + green’

green + green’

yellow + green’
red + yellow’

green + yellow’

yellow + yellow’

(we omit arc labels 
for readability issues)



Example: two traffic 
lights
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2 red



Example: two traffic 
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2 red

green + red
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2 red

green + red

yellow + red

2 green
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2 red

green + red

yellow + red

2 green

green + yellow
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2 red

green + red

yellow + red

2 green
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2 red

green + red

yellow + red

2 green

green + yellow

2 yellow
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2 red

green + red

yellow + red

2 green

green + yellow

2 yellow



Example: two traffic 
lights
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2 red

green + red

yellow + red

2 green

green + yellow

2 yellow



Question time
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Complete the net in 
such a way that  
the two lights  

can never be green 
at the same time



Question time
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Complete the net in 
such a way that  
the two lights  

can never be green 
at the same time



http://woped.dhbw-karlsruhe.de/woped/

WoPeD

http://woped.dhbw-karlsruhe.de/woped/


Exercises
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Draw the reachability graph of the last net 

Modify the net so to guarantee that  
green alternate on the two traffic lights  
and then draw the reachability graph 

Play the “token games” on the above nets 
using Workflow Petri net Designer:  

http://www.woped.org 

http://www.woped.org/


Exercise:  
German traffic lights
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German traffic lights have an extra phase:  
traffic lights do not turn suddenly from red to green but  

give a red light together with a yellow light before turning to green. 

Identify the possible states and model the automaton that lists all 
possible states and state transitions. 

Design a Petri net that behaves exactly like a German traffic light. 
There should be three places indicating the state of each light and 
make sure that the Petri net does not allow state transitions which 

should not be possible.



Exercise:  
Producer and consumer
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Model a process with one producer and one consumer: 
Each one is either busy or free. 

Each one alternates between these two states 
After every production cycle the producer puts a 

product in a buffer and the consumer consumes one 
product from this buffer (when available) per cycle. 

Draw the reachability graph 
How to model 4 producers and 3 consumers connected 

through a single buffer? 
How to limit the size of the buffer to 2 items?



Exercise:  
Dining philosophers
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The problem is originally due to E.W. Dijkstra (and 
soon elaborated by T. Hoare) as an examination 

question on a synchronization problem where five 
computers competed for access to five shared tape 

drive peripherals.  

It can be used to illustrate several important concepts 
in concurrency (mutual exclusion, deadlock, starvation)



Exercise:  
Dining philosophers
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The life of a philosopher consists of  
an alternation of thinking and eating 

Five philosophers are living in a house where a table is laid 
for them, each philosopher having his own place at the table 

Their only problem (besides those of philosophy) is that the 
dish served is a very difficult kind of spaghetti, that has to be 
eaten with two forks. There are two forks next to each plate, 
so that presents no difficulty: as a consequence, however, 

no two neighbours may be eating simultaneously.



Exercise:  
Dining philosophers
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Design a net for representing the dining 
philosophers problem, then use WoPeD to 

compute the reachability graph

image taken from wikipedia 
philosophers clockwise from top: 

Plato, Konfuzius, Socrates,  
Voltaire and Descartes



Exercise:  
Railway system
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Use a Petri net to model a circular railway system  
with four stations (st1, st2, st3, st4) and one train 

At each station passengers may  
"hop on" or "hop off" 

(this is impossible when the train is moving) 

The train has a capacity of 50 persons 
(if the train is full no passenger can hop on, 

if the train is empty no passenger can hop off) 

What is the number of reachable states?


